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Problem #2 (2 pt): For the following circuit, find:

1) The value of the load resistor (R.) for maximum power transfer.
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2) Calculate the value of the maximum power (Puay).
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* ol - Foridi ivcuit consists of: one :
Pr‘nhl{um #3703 pt): Simplify the following circuit to one single loop circuit consists f: one depeng ﬂfdem

voltage source, one independent voltage source and one resistor.
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oblem #4 (3 pt): Find R, between a and b.
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Problem #5 (4 pt):  Given the following:
i) (A)
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2) Find v{t) for t 20, if ve(0)=0 ;V/
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3) Find the energy stored in the inductor wi(1)) for 0<¢<I if wr (0)=0J
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Problem #6 (5 pt): For the circuit shown below, find the values of Vi and Iy seen by the (2 ()

resistor.
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Problem #7 (3

Pv: Write the Mesh equations for the following circuit for t > 0 (no need to solve

them):
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For Meshl1:
For Mesh2:
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For Mesh3:
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Problem #8 (8 pt): For the Jollowing circuit, the?

Find:
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